Industrial Education Coflege

Computer (2) Programming -~ Final Terrry E>xany.
Tirme Alflowed: 3 Hours 3 Yyear Student FTanuary, 2012.
Answer thhe followirng guestions:
Questiorn = I
.

Explain the two levels of prograninting Ianguldges.

5. What are the data types of C language annd wiratl is the difTerence betweerr efremrr?

€ o vunst] it NP L ins IS Loo o lilastt £ laif (nDlo
. Write a C statemrernls only to -

i. Declare (e o odel) the constant @ =0.333.
Prirzst ON ¥ x /s rnnegative arnd prirnt OK otfrer wise.
Trcrease (o56,) thhe valure of R by 550.

V. Print yotr Colilege narme 26 times. V. Gt new firne.

Questiory # 2=°
.

Write a C expression corresportding to matfrematical expressiorn:

Fes = 8 a + b)=3 Also, indicate the operation precedence.

a + QO™ 4+ sin T ()
b. The volume (V) and Surface area (Ap ) of @ cylinder are:— = %:T d2 n  and Ao =27 r(r+ ~A) .-
Specily thHhe inputs and the oultputs of the probferr.

Draowvw o fTowclrart arrd wWirilte & Cprogranr
to comipute V and Ag.

c. Drawvw & 1Towchart and wifte a C programn to compute and print tfhre sfope of a line using e

rormeslar
- >
Slope - Yo y%T—x.)

Dravwwv rTowclrarts and wiile C programs (or

Questiorn # Z:

a&. Find the largest of three integer numbers X, Y, and Z .

5. Compute e suny and average of the everr (os=>9;) irnnteger nummrbers fromrr N to M.
C. Cormpute and print owut thire rfollowing function:

X = séine @ _, Y = cosine & , and Z = tan® . Where © cofranges fromrr O o 2 irr step O.1 .
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Answer the Following Questions:

QL)
i) What are the main steps of the program planning? =L 3 (gt Jas Ol gl _a La
i) What are the advantages of programming using Visual Basic?
Tetlioas (W smadll alod ol Ao o 50l Jpeal & La
iii) List the types of programming languages and define each type?
TE IS iy st m e Baa 0l il st ol e La S
Q2)
i) Define the flow charts showing its steps and importance?
Tleiranl 5 gl glas 1iigaa (3255 AWl 5,2 3 e
ii) Draw a flow chart that represents the student's evaluations as in the following
table and write the program.
_L@i@u_{g OS5 (BN S oaadl (8 Haae sa LaS DUall Gl 5008 Criay ool sal (3a0 Ao A ans
ARnY A ol
Sbea L 85 (s 5lud gl sa oSl
fas Saa 85 e S8 5 75 (5 bl g e asd
- S . 75 e I8 5 65 (sl o e sl B
J _sa8a 65 re I8 5 SO (5 sl 5 e s
st 50 O J8l
for the following example

List the priorities of executing the operations
A4+-(6/1)*F((AZ+3I)IN2Y/7+(4-3) B AJELD 8 Colglaxl 2389 il g8 oS

e
o
[

o/

Q3)
i) List the windows menu bar of the Visual Basic editor and explain the function of
them briefly? _Lb=bals aga 53l 5 Eliaas () sl A50LES 8 201 580 38 55 & La <3

ii) Write a Visual Basic program which Prints the numbers from 1 to 100 using
FOR NEXT =« alasiaus 100 W 1 O &B W)Y aden el 5 oSl

Write a Visual Basic program which adds the odd numbers from S to 500 using

DO WHILE Ll alastiiil 500 M 5 e 205580 a8 W mamy gmals s o nS)

Q4a)
i Write a Visual Basic program which calculates the factorial of any number, note

that the factorial of zero equal one. ) i
JA‘JL'_g_sLA-Hﬁ_)-‘iA-aJ-JS—“%JJ_MAQ‘Q—BAL&?EJQQY%JJ‘)@-A-“ - __@n\_'\_)__:‘;s.‘a.u_‘a

Using SELECT CASE command, write a program which estimates the

ii)
percentage of the discount of the sales, if the sales (1, 2. 3) no discount, if the
sales (4 to 9) the discount is 1526 and if the sales (10 to 49) the discount is 25%%6.
3 Aasy 2 Select Case ol 2laslials el 5 S|

352 51 Dlmpaall ClS 1S 45U Lale Culaaal e .
i Aan’s (H 95 49 (MW 10 e SBlS 1N asl 50518 s ma W A o, S5 O M A4 e IS NS Al g aias a0y Y
2025

(B8 58 (laiat cudal aa
(oalau dama /?"“
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B Q-
(2pts) TaApays Y Culagea 523t &1 33 <31 (a
(Sprs) Tledgp e s A1 24 Ja Jal e Hluaidly o5 (b

3 pts) WJ‘_)SJ&A&‘AA*?M‘J&LA,*'\)SJ!uLHi:ucha-u-Yula.L).laluaa.eg!u!d’%ﬂqa (c

~)""~“ ™S
NameS$ -ii End -i
Pr. T.float -iv . 2nd semester -iii
Single -vi My age -V
. CQ
6 prs) ARG Jadl Hd o g 9 Sl Spae HS31 (A
- (6 prs) Y v v 8 Y i 5 sanall 48 oYY Mlas W Ao Ladat &paSEN Aoy a5 e~ (b B
(Gprs) —2 ALY Sl yiiial] AnS ghialt il L ale (C
i-. shrTens = (157 - 157\ 100 * 100) \ 10 ii- Z =6 2 ™3 4+ 3\2
iii. dblRemainder = 17.5S MOD 3 iv. AA= Val(""'86abc*) -
~rQ
Bprs) ~: &+ » s+ (gt intSales oS 138 NS 39S 33dSS aas decBonus Ak ale (a _
If (intSales > S0000) Then
bInGetsDoubleBonus — True
decBonus =— 4000.00
Else
decBonus = 2000.00
End If
St land) Frpaial aee AdklEl Gl laadl alal (¢ ) Aadls 9 dasaaal) Gt Lot oteal (\f ) T LD aua (b
(6 pts) e S R IEN ]
Swmumﬂqmﬂiqwi%ﬂw‘@’ﬁﬂ i
pAiTcal) 3 55 gapasSi] Agolall il ek alt Cags Jages o3t ) 95 o985 SR ISY) prat e Wi
AL St AglEsy goacay W tlawgy St spad i
AAIT LIS yRoin Yw;wiﬂuﬂmég_,w\a&i.ﬁia‘,&o*ﬂu&m$JL9=_)955A.“ v
At yaty
J‘WJ‘WWMWJMWHAM*”H’#Q’-‘”WPJ)“M‘ -V
Y e
- (L.oop) 3,0 981t (Jaita afanlt AayB e gRmS ySay wvi
£
AS1al) o3 paan Lt ALINS agB ZDAE Cra (5 sRaaall dlagihll cmbuont clanas (3 sagill ARl atast il Aty Gaist (f, <
(S pts) - MMlinim wn
3 pts) 2N S aS Ay ate (b
Private Sub PrantNum_ Click()
Fori=2 To 10 Step 2
print 1
next i - ]
End Sub - . ) . . - B
=Q
(a

W(F)%*Muﬂ_ghq.ﬂ%_,“fhﬂc Ay giall Bt sl A ya | aS qa."‘j.i.\.u.ﬂd.bg)aw|
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Answer the following questions:
Q1)
a) Write the netlist to find the nodes voltage for the circuit in Fig. i7 (6 pts)
b) Write the netlist to find the Thevenin equivalent with respect to terminals a,.b for the circuit in
Fig. 27 5 pts)
10 2 12 L3
Y
s 0 '
50 £ l 25 02
= 6.5 i, Py
'-r
—ar b
Fig. 2
Fig. 1
Qz2) : :
a) Write the netlist to Compute V; and V; for the circuit in Fig.3 (f=10kHz)7? (6 pts)
b) Write the netlist to find iy, v, for the circuit in Fig. 47 (5 pts)
10_-45° WV
<@ 2z
v 4 £2 v Y el
1 1 AN 2 2 - 1 .
— 2OV o £
3..0° A =t _j3 K2 J&e <2 12 £2
S -
Fig. 3
Q3)
a) List only five facts and Rules about PSpice? (3 pts)
b) Describe the following Pspice Control statements: (5 pts)
1. -PROBE / CSDF N o -
11. .AC DEC 100 1KHz 1000KHz2
111. TRAN 1ms Ss Os Ims UIC
Qa)
a) Write the subcircuit netilist for an ideal operational amplifier which has open loop gain 200K,
_input resistance 1 gega ohm, and the cutput resistance is zero ohm. (5 pts)
b)

Use your above subcircuit to find the voltage gain (vo/Vv;s) ., the input resistance. and the output
resistance. in the following figure. {10 pts) :
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The stiuderry F222Y ASSILFINE AIZY rrrissirnne daras

1- a) Describe the main sources and the main . types of error.Define

sensitivity  precisionand resolution of a measuring ins%{giment. )
b In a CRT oscilloscope measurement of I voltage signal, the human error is

F 5%, the instrument error is 4 2.5%% while the background error is estimated
as *+ 2.6%%. Calculate the overall _absolute S1TOr i1 ‘Mmeasuring 120 uv peak
.. voltage siznal and in Imeasuring SGOKHzf‘requency .

c) Calculate the 70%%full-scale current . of a “ACT mov=inent that has a ‘sensitivity

of 10 kC2/WV. radians and FSD — 2. radhians. .
d) - A moving coil instrument M. C. XI. has a coil resistance Rc¢ = 25 €2 and full
- scale deflection FSD = 120 divisions achieved by XA
5. i= - If the meter resistance Rm=100 s23show how this instrument may be used
5 ‘as milli-~aumuneter to measure 100 milli-amperes d.c.. calculate the value of
Cnd _Rsh- . - .
“"Ii- Show how this MCI can be used as an a.c. voltmeter to measure 230 volis
a.c.

i~ Using a standard e.imm.f. of 12 volts and 4000 <2 internal resistance, show
how the M.C.I. can bé used as an ohm-meter. What is its Maaxumuim,

S muiinimung and mid-scale sensitivity, . - . .
2~ a) Explain, using neat drawing the construction and function of CRT oscilloscope.

Show how to use the CRT oscilloscope to measure small time and small voltage.
b) Given the Opposite-angle Bridge of (Fig.1). find an expression for Rx and
IL.x at balance and calculate their values.

c) Explain, using neat drawing the construction and function .
Resistance thermometer Diiscuss how to increase its sensitivity.

d) Show using clear drawing how to use an LVDT in measuring position and fnd
.. _ an expression for its sensitivity .
3) Discuss four benefits of the digital

of the Platinum

- , . Ri=12 Ko R 3= 10K
instruments owver the analog_meters—Explaln .

through clear drawings both the : C; = a MF\ .
digital and the digital read-out E =12V ed B \
instruments. 7= 6 k Hz

. R 3=24 K2
i . R x
Good fuck., ‘  Fie. c7) - S
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Subject : Electronic Circuits IT . Academic year : 2011 — 2012 .
Classes H 3rd year Electronics & Control Date : /1 /72012 .
Examiner : Dr. FAWZY A. EL- GAMAL . Time H 3 Hours .

FINAIL, T ERM EXAMINATION

1. Draw the circuit diagram ( using operational amplifiers ) to solve the 2nd order

differential egquation :

a’ x ax
--------- + 10 . 4+ S0 X = 7 COS gat
a ¢ dt
2. 2.1 prove that the closed loop Gain of the non inverting configuration op — amp is :
Vo/p R2
G = e = 1 4+
Vimp Ry

-

2.2 Determine the closed loop gain of the inverting amplifier : given : the open loop

voltage gain of the op — amp is 100 000 » Ry = 100 K2 | R; =5 K< .
3. Draw and explain the diagram of the following :

3. The Voltage Follower .
3.2 The window comparator .
3.3 The differentiator using operational amplifier .
3.4 The integrator using operational amplifier .
3.5 The Digital — to — Analog converter .
4. Draw and design a band pass filter to provide an amplification of 10 within the band of

frequencies between 35S5S00 Hz and 20 KH=z .

Take all the values of the capacitors , you will use , equal O. 4 pF .

Orientation :

S. Calculate and draw the coutput waveforms of the following circuits . Given the input

waveform at the input of each circuit : \’r,.’?(.t) \
A

23V
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The drawing gives details of Bully Bracket.

Draw full size the following views of the assembled Bully Brackei;
7T- Sectional elevatiorn.

2- Pfan.

3- Side view.

g— Insert the main dirmensions.
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The drawing gives details of Bully Bracket.

Draw full size the following views of the assembled Bully Bracket;

71- Sectional elevation.

2- FPlan.

3- Side view.

“g— Insert thhe main dimensions.
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UNIVERSITY OF BANI-SWIEK
College of industrial Education

Subject : Electronic Circuits ¥X . Academic year : 2011 — 2012 .

Classes H 3rd year Electronics & Control Date : /1 /72012 .

Examiner :Pr. FAWZY A. EL- GAVIAL . Time : 3 Hours .
FINAL TERMEXAMINATION

1. Draw the circuit diagram ( using operational amplifiers ) to solve the Znd order

differential equation :

d X dXxX
————————— + 10 mee——— 4+ SO0 X = 7 COS gt
2
d ¢t dt¢
2. 2.1 prove that the closed loop Gain of the non inverting configuration op —amp is :
Vorp R
G e —— = 1 - ——————————
Vip R,y
2.2 Determimne the closed loop gain of the inverting amplifier : given : the open loop
voltage gain of the op — amp is 100 000 ., Ry == 100 K<L£2 - R4 = 5 K2 .

3. Draw and explain the diagram of the following :

3.1 The Voltage Follower .
3.2 The window comparator .
3.3 The differentiator using operatiomal amplifier .
3.4 The integrator using operational amplifier .
3.5 The Digital — to — Analog converter .
4. Draw and design a band pass filter to provide an amplification of 10 within the band of
frequencies between 500 Hz and 20 KH=zZ .

Orientation : Take all the values of the capacitors , you will use , equal O0. 4 pEF .

S. Calculate and draw the output waveforms of the following circuits . Given the input

waveform at the input of each circuit : - ({) .
Y \
2V R K
O -
“Tp - &, =7
5 Zyp =

L T

.2
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BENI SUIF UNIVERSITY ) term :  first/ 2011-2012

Automatic Control Technology Department Date : 9/01/2012

QUESTIONS FOR THE FINAL WRITTEN EXAM

Subjecr: Automatic Control Theory Spec:3rd vear Electronics Tech

Examiner: Prof. Dr. Ramadan MOSTAFA Timme: 3 Hours
Number of Pages: 1 Number of Questions: 3 Max Mark: 60 Attempt all guestions
Note: guestiortl: [16 mrarks [ gquestiorn2: [20 rmrarks J qreestiorr3: 24 rmrarks J

1.a-Reduce the block diagram given in fig.la to open loop form. (& rrzarks)
b-Find the state equation and the output equation for the spring-mass-damper system

shown in fig.1b . (8 rrzcarks)
+ e (el <
? [l LoJ
[ a, |
2
Fig.1a —
2.a) For the system shown in figure Z2a  I2rnarks )

i. Obtain the closed loop transfer function C (SYR(S).
ii. Determine the value of K and constant b so that the maximum overshoot in

the unit- step response is 0.3 and the peak time is 2 sec

iii. Obtain the rise time and settling time
b)Find the transfer function and draw the block diagram of an armature controlled dc

motor shovwn in fig.2b. (& rrarks)

R(S fad Pes) 1 CCS)
= < s 35 o
b -
Fige.2a

3.a- Find and trace the step response for the following transfer functions: ¢ 5 rrearks eac/t)

. s> 1 1. € 1 1. GG 2s
R(SD 0.554+1 R(SD SZ24+aS+a R(S) S24+45+25
b-Determine the transfer function and the state equations and the ocutput eguation for the
electric circuit shown in fig.3 . (9 rmrarks)

| ;oo rvck
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